[ f

Solutions |

| =i}

(

Saps- (-2,

Math 2D Quiz 1 Morning - March 31, 2016

Please put your ID on back for redistribution!

Show all of your work. *There is a question on the back side.
1. [10pts] Evaluate the following integral:

| SRR
] / (z+e7Y) dz dy.
g0 J1

Simplify your answer.
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2. [10pts] Evaluate the following integral:

jR-f(ar: +zy7%) dA

where R = {(z,y) € R*: 0 < 2 <2, 1 <y < 2}. Simplify your answer to a single number.

A A S 2% ) yA 7 . b B )
¥4y - g [X*2 ) ke Ay - \ ()5_ o
4 = :"9 \ T ) "b\)l K=o - 9

lj':,\ X =0

L):-'L

3:1
=

U |
e T
‘-.J
e
(-""'_""‘"--..
{\J
S
™
.
RN
{
O
\
O
\_,/’"J
Z
|
~J
S
|
u:lw

) @5 ‘j: & | -7
Jydy g \ (16 3o) dy dx \ wy-x |77
X.=0 \j-ﬂ‘\ o j |
y
e )-*1 7 16
| - X
o= | ZX*Z > = Lx g B R A
gD L( o (///4 L 0 & )
S e s
- 73-2‘(“ . —-L—{’ = \i +5~ +L{




